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JERRH R X 1 210, 883, 055
HEELT = 1 36,512, 227
HRHEI T = 1 7,129,050 |#EH! 1, 900 m3
HOE 17 sy b BEEME 1,000m3LL 5, 000m3R
Tl
A 1, 300 m3
s hoEEl
FEHA O-27) 1 X
+1 &850, 000m3ATH ;
PEHI L (ICT) = 1 3,865, 720 |#@HI (ICT) 6, 400 m3
W A7 vy b BEESE L 10, 000m3 LA 50, 000m
AT ;
HEHEI (ICT) 200 m3
T FrEimHE
A 6, 400 m3
LY A7 iy b FR LM PEEME 10, 000m3LA 150
, 000m3 KT ;
A 200 m3
T FrEimHE
FEHA O-27) 1 X
+1 &850, 000m3ATH ;
BEARRSE AT = 1 6,072, 750 | &4 (SLs2) R+ 1, 000 m3
2. 5mAT ;
EuNE R 500 m3
2. 5mPL 4. OmATi ;
BRE LT = 1 4,121,770 | BRIRE% 1 700 m3
2. 5mAT ;
IR R 1 100 m3
2. 5mPh 4. OmATw ;
AR AT (ICT) = 1 107, 760 | BRI L (ICT) 300 m3
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BEARSEE T = 1 25, 740 | BIASM R L 200 m3
BT T (ICT) = 1 3,943, 167 | IEmFEE (B)1356) (ICT) 2,710 m2
VY = W R OWhE = CREE L
TEHEFETE (8] 1356) (ICT) 730 m2
AT ;
BRI (B 1356) (ICT) 1,770 m2
EmEAFEOEL
P v T = 1 11, 246, 270
IR = 1 24,113, 753
fliAE T = 1 8, 469, 850 | ff - B Af 1, 150 m2
REBHEE L 1000m20L L ;
B LAY 2,100 m2
JE2cm & EMAT T 1000m2LL L ;
A B4 IR A 870 m2
JE3em AR FERAWRAT L 1000m2LA L
ERET = 1 15,097,520 | RAHHE 286 m2
LR AsH A
151 5 AT i 460 m2
gk T = 1 546, 383 | FEHEAM 149 m
W300X 20 ;
PEEET 2 1 2,249, 253
EELT = 1 86, 143
T FTHERE T (&4 BT =X 1 2,045, 160 | & /)2 HfEaE 28 m3
GW15
Im% H % 2mAS 3v)) -5
) AR 3 m3
SGWT71

omPl _ESmPA R av)-bE
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117, 950

15 - feBE
a/))-b 15

A1+ 7" wy R (3R) T

2t

3,924, 434

fELT

2t

191, 844

VR VARPY RN EVZA R VAR Y E <)

2t

3,732,590

WA FT Eetgsay ) ) -}
152y ) =47 ny ) Feigs

a/))-b15 JENES55cm 5 X 35cm ;

/) =h (R%0) 77 ny ) il
LEa/))=b7" ny ) 7H
VB %% 35cm ;

/) =h (R%0) 77wy ) il
25 2/)) =17 ny I FE
VB %% 35cm ;

JA - BEARE ()
RC-40 ;

BT Rfgav ) -h
IREPN =NV
a/))-h 15

H Hikx
(K#gavr)-h)

T AHE R B M =10 ;

41 m

55 m2

43 m2

28 m3

I

10, 625, 855

fELT

676, 755

7" VEp AN =b 1

9, 949, 100

7 VIRANE v A

LE7 VAN 974

PIE 1.6m PMNE 1. 3m ;
7 VIRAMNE v A

257 VEYAME 9 A

PIE 1.2m NE 1. 2m ;
7" VEYAMNE v A

27 m

11 m

17 m
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357 VRYAME )4
PIE 1.2m MNE 1. 2m ;

HEKHEY) T = 1 77,720, 017

BT = 1 5,773, 412

AR T = 1 42,214,064 |7 VA NUBLRITE 1, 000 m
PU1-B300-H300

7" Vv A NUBRMAITE: 100 m
PU1-B300-H300 % JiE

7" Vv A NUBRMAITE: 400 m
PU1-B600-H600

7" Vv A NUBRMAITE: 1, 000 m
PU2-B300-H300

7" Vv A NUBRMAITE: 200 m
PU2-B400-H400

7" Vv A NUBRMAITE: 400 m
PU3-B300-H300

7" Vv A NUBRMAITE: 400 m
PU3-B300-H300 3 JiE

7" Vv A NUBRMAITE: 90 m
L

H 2B RS 23 m
CP-U5-B300-C300-H50

H 2B RS 35 m
15 B B A EE

NS 144 e
PC4-B300
300 41.2%9.5X50 ;

H B AEE VT % 30 e
H3E A B300X L1000 W H ;

ST =Y 1 6, 667,952 |ta—M& (BILAS) 6 m
P1-RC2-D600
M EE 2

-4 - [E-Amd T ET R




il
W
St
%
I

THEL | A6 FEEGEEIRE R =S 5 R T

LKy - LA - FER WAL ¥ =& & il il 2

ﬂlj“

(AN IRV RN S DK 24 m
CP-PH-D600
|

(N IRV RN S DK 23 m
CP-PH-D900
|

S -MefTE 40 m
CP-PH-D1200
I F& ;

L IR/ -} 6 m2

YRR SN = 1 4,734,830 | BT B AT 13 T
154 Ut
BUGFTH av))-Ms EEVEEM IR ;

BURHT B EN 1 AT
2 IR
BUGFTH av))-127 IEmVEEM IR ;

BT H K 4 & T
IRZE VN
BUGFTH av))-Ms EmVEEM IR ;

BT H K 2 & T
254Kt
BUGFTH av))-Ms EmVEEM IR ;

BT H K 1 & T
3B KM
BUGFTH av))-Ms EEVEEM IR ;

BT H K 1 & T
4Kt
BUGFTH av))-Ms EEVEEM IR ;

BT H K 1 & T
5Bk
BUGFTH av))-Ms EEVEEM IR ;

BT H K 1 & T
6 ARkt
BUGFTH av)) -1 EmEVEEM IR ;
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BGHT K 2 T
T K
BUGFTRS av))-M5 JEmEERERE ;

BGHT K 1 T
85 K Mt
BUGFTRS av))-M5 JEmEERERE ;

BGHT K 1 T
95K Mt
BUGFTRS av))-M5 JEmEERERE ;

BT B K 1 T
1054 7K Bk
BUGFTRS av))-M5 JEmEER ERE ;

BT B K 1 T
115K B
BUGFTRS av))-M5 JEmEER ERE ;

BGHT K 1 T
1295 57K Hik
BUGFTRS av))-M5 JEmEEMRERE ;

ES 26 biia
GC-B500-L500

ES 1 biia
AT VA
71500 X 1500 T-25 ¥5A i E g1k & v
ME E

ES 1 L
LR

ES 2 HH
25 AR

ES 1 L
SRR

ES 1 L
R E e

HNHEAKL = 1 4,260,000 |HiFHEK 400 m

TP-1-1
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WRE
BT KT B0 6,490,000 | LZBUEFT KK 200 m
HEAKT = 803, 698 | 13/ NEEHEAK 144 m
foEHEAK 17 m
TH-1-1
BB 7)—h X 6,776,061 |H& D av7)-} 15 m
1 BB Eas )=}
) -5 39 - R B A
CEUEVZAR 9 m
25 BBy )=}
) -5 39 - R B A
CEUEVZAR 244 m
3R Eas))—h
) -5 39 - R B A
CEUEVZAR 190 m
4B E )=}
) -5 39 - R B A
CEUEVZAR 404 m
5B &) —h
) -5 39 - R B A
CEUEVZAR 48 m
65 BA B -}
) -5 39 - R B A
CEUEVZAR 449 m
TRy ))—h
) -5 39 - R B A
CEUEVZAR 71 m
8 BAE ) -}
) =5 av)) - R REI A
HEET = 15, 868, 625
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TSy « TfE - FER B {7 % & A bl iR
TA7 7 M2 T = 7,210,688 | FIEM (HiE - BEE) 1, 030 m2
RC-40 t=150 ;
R (HEGE - BRI ) 1,030 m2
M-30 t=100 ;
R (HEGE - BRI ) 1,010 m2
FAEASZEENLVER (20) =50 ;
g (I - BRIF ) 990 m2
FEHURIEEAS (20) =50 ;
g (I - BIF ) 990 m2
FAEBRIEEAs (20) t=50 ;
TA7 7 M2 T = 1,181,005 | /@M (FEE - KT EH) 410 m2
RC-40 t=150 ;
g (I - BIF ) 410 m2
FAEBRIEEAs (20) t=50 ;
TA7 70 MEHEE T X 654, 192 | TE M (0B 236 m2
RC-30 t=100 ;
g (REE) 236 m2
FEBRRI A (13) =40 ;
TA7 70 MEHEE T X 91,476 | T /@M CRE ) 33 m2
RC-30 t=100 ;
g (REE) 33 m2
FAEBRIEEAs (13) t=40 ;
TA7 7 M2 T = 2,822,890 | FIEi&M (HiE - BIEE) 980 m2
RC-40 t=150 ;
g (I - BIF ) 980 m2
FAEBRIEEAs (20) t=50 ;
TA7 7 M2 T = 2,296,402 | FIEM (HIiE - BEE) 525 m2
BBl
RC-40 t=50 ;
TR s (BE - BRI 525 m2
RC-40 t=150 ;
b R (HEE - BRI ) 525 m2
M-30 t=150 ;
ZJE (B - BIFED 525 m2
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FAEBRIEEAS (20) t=50 ;
TA7 7 Ml T X 1 1,040,692 | TJEM (BE - BRI 431 m2
RC-30 t=100 ;
g (I - BIF ) 431 m2
FAEBRIEEAs (13) =40 ;
av)) -k T X 1 571,280 | T & AR (HREE) 185 m2
RC-30 t=100 ;
3] 185 m2
a/))-b A t=70 ;
oL 2 1 4,067, 060
fxa T = 1 4,067,060 |HEEEERT ny) 350 m
LB ARHEEE R vy
CHE180/210 X 300 X 600 R F 4} :
HRHLERE R T ny) 30 m
2B HREIEBE N ny)
B T A EF180/190 X 100 X 600 ER 4 ;
7A0=7" 320 m
AC-1-1
FRTEEAs (13) 215em28h 235em2ATi ;
Bh AT L 2 1 11, 368, 920
FRANIBA AT L X 1 1,742,920 |H =N V-w 100 m
Gr-C-4E Hf ;
A 22 m
Gr-C-2B A ;
LEH b v Jip 22 m
Bf5 1k AL 2 1 9,626,000 |#5¥% (REMT) BA (A 1,000 m
i AbGA PHI4EE A
X JEj R L 2 1 526, 563
X IR T 2 1 526, 563 | VARl X H#R 460 m
A FE) 958 15cm JEL Smm [
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TR X iR 140 n
A FE) 958 20cm JEL Smm [

TR X iR 21 m
AR T8 A8 15em &1 5mm [ ;

TR X R 310 m
RERFE) v 777 45cm JE1. bmm [ ;

TR X R 2 m
AR T8 BB 45em &1 5mm [ ;

e il = X R 40 m
R FE) KHI-F05 - 305 15em# % /1. 5mm

=i

HEYE T Y 1 11, 003, 305

HEYHE L T = 1 6,378, 473 |2~ MEEW BUE L 300 m3
MRS BblE T

/) ) -MEEEUE L 10 m3
ERApIEEY) FAE T ;

EhAERR G 1 2V
TAT 7 MEEERR 15emPL T

EhAE AR AR 1, 050 m2
TA77VMERZEIR B2 4em ;

EhAE AR AR 4,400 m2
TA77 VMR BEEARE Bem

PR EY L T =X 1 147,492 |avh =M 47" #ik 33 m
i ¢ 1000 ;

v = A7 i E 3 m
E ¢ 1200

t

TR AL T = 1 4,477, 340 | FRIEHE 262 m3

TAT 7V

300 m3
/)= (AT

E 10 m3

) -bik (BRI

X

%
E

s
i
SEE

Sl
=

262 m3
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TEHX4y « Tfd - FER & #A iR
TAT7IV NS
RISy 300 m3
/)~ hik (4%
RISy 10 m3
/) -hk (BRAD)
AL R S 1 F2V
T =IN AT
A Y 12,903, 043
TEHERKT Y 2,949, 043
B EHT = 9, 954, 000
[ERAE Xy = 210, 883, 055
HiE 2 = 26, 683, 596
Hom it = 2,980, 596
HeffrE sy = 1,209,596 |{R5FEHL(ICT) 1 =
YATLRIE 2 (ICT) 1 F2
BGRESGESE (5 L) = 1, 771, 000
B (FEHL) = 23, 703, 000
T = 237, 566, 651
Bl gy = 78, 111, 000
T =5l = 315, 677, 651
— R A = 46, 242, 349
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THX 4y - THE - flR B Az W B & HH il il A
TS 2 1 361, 920, 000
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